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QUESTION 1

What is the purpose of provisioning?

A. Provisioning allows modules that are not licensed to be fully tested.

B. Provisioning allows modules that are licensed be granted appropriate resource levels.

C. Provisioning allows the administrator to activate modules in non-standard combinations.

D. Provisioning allows the administrator to see what modules are licensed, but no user action is ever required.

Correct Answer: B

QUESTION 2
A. insert

B. rewrite

C. passive

D. session

Correct Answer: A

QUESTION 3

A virtual server at 10.10.1.100:80 has the rule listed below applied. When HTTP_REQUEST { if {{[HTTP::uri] ends_with
"htm" } { pool pooll } elseif {{HTTP::uri] ends_with "xt" } { pool pool2 } If a user connects to http://10.10.1.100/foo.txt
which pool will receive the request?

A. pooll

B. pool2

C. None. The request will be dropped.

D. Unknown. The pool cannot be determined from the information provided.

Correct Answer: B

QUESTION 4

Assume a client\\'s traffic is being processed only by a NAT; no SNAT or virtual server processing takes place. Also
assume that the NAT definition specifies a NAT address and an origin address while all other settings are left at their
defaults. If the origin server were to initiate traffic via the BIG-IP, what changes, if any, would take place when the BIG-
IP processes such packets?
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A. The BIG-IP would drop the request since the traffic didn\\'t arrive destined to the NAT address.

B. The source address would not change, but the destination address would be changed to the NAT address.

C. The source address would be changed to the NAT address and destination address would be left unchanged.
D. The source address would not change, but the destination address would be changed to a self- IP of the BIG-IP.

Correct Answer: C

QUESTION 5

Which three statements describe a characteristic of profiles? (Choose three.)

A. Default profiles cannot be created or deleted.

B. Custom profiles are always based on a parent profile.

C. A profile can be a child of one profile and a parent of another.

D. All changes to parent profiles are propagated to their child profiles.

E. While most virtual servers have at least one profile associated with them, it is not required.

Correct Answer. ABC
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